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In this slides…

• Examples - problems - exercises  



Example 1

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="PoryfZC9N7sdFlIwbG6DY3mGDds="></latexit>

x(t) = e�↵t,

h(t) = �(t� t0), t0 is a constant



Example 1

<latexit sha1_base64="arfMpoc6owh+hkn4TBV91MrLdPI="></latexit>

y(t) = e�↵t ⇤ �(t� t0),

= e�↵(t�t0)



Example 2

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="fRlLv8mYpaPAq/zkVMlXEMSR6Yk="></latexit>

x(t) = e�↵tu(t), ↵ 6= 0

h(t) = e��tu(t), � 6= 0



Example 2

<latexit sha1_base64="JyoHysxsC/6xhv54qQ+v62LxnK4="></latexit>

=

Z +1

0
e�↵⌧e��(t�⌧)u(t� ⌧)d⌧

<latexit sha1_base64="t7f/qnwgQdd+tTyXOZSA7ZSvcA4="></latexit>

x(t) ⇤ h(t) =
Z +1

�1
x(⌧)h(t� ⌧)d⌧

=

Z +1

�1
e�↵⌧u(⌧)e��(t�⌧)u(t� ⌧)d⌧



Example 2
<latexit sha1_base64="JyoHysxsC/6xhv54qQ+v62LxnK4="></latexit>

=

Z +1

0
e�↵⌧e��(t�⌧)u(t� ⌧)d⌧

<latexit sha1_base64="4qVFa1yV9xugFL1Q9++7/vsC32A="></latexit>⌧
<latexit sha1_base64="/jnm2oelSSW090NVFWbHUN6VtWE="></latexit>

t

<latexit sha1_base64="dmBBdlV7ctQ72bHBjQqeY2AP4i4="></latexit>

u(t� ⌧)
<latexit sha1_base64="KHkb7FlEyIdkW4Zhj+V/fV2Asy0="></latexit>

when t > 0

<latexit sha1_base64="4qVFa1yV9xugFL1Q9++7/vsC32A="></latexit>⌧
<latexit sha1_base64="/jnm2oelSSW090NVFWbHUN6VtWE="></latexit>

t

<latexit sha1_base64="dmBBdlV7ctQ72bHBjQqeY2AP4i4="></latexit>

u(t� ⌧)
<latexit sha1_base64="KOlmi0pdgpp8DOTm5YaL7/jit1I="></latexit>

when t < 0

<latexit sha1_base64="F1ziWlC/hd4MzcOyL9rK9fRwGvI="></latexit>

1

<latexit sha1_base64="F1ziWlC/hd4MzcOyL9rK9fRwGvI="></latexit>

1

<latexit sha1_base64="RG7oz801/QbRmRuw5mDg4XmLXOM="></latexit>

y(t) = x(t) ⇤ h(t)



Example 2

<latexit sha1_base64="ATsNCGJiX4npJ1lmZ0jaRUSd3M8="></latexit>

y(t) = 0, for all t < 0

• Then (first part of the solution): 



Example 2
<latexit sha1_base64="xYvHT3qrOMv4ExVpTICzWBQyCPI="></latexit>

x(t) ⇤ h(t) =
Z t

0
e�↵⌧e��(t�⌧)d⌧ t > 0

<latexit sha1_base64="LM0DNKiQhxf7+owm/2+Ypq/VtwE="></latexit>

=

Z t

0
e�↵⌧+�⌧��td⌧ t > 0

<latexit sha1_base64="ZfQzx6tQc0PX3VXZlx/wMiBXylI="></latexit>

= e��t

Z t

0
e�(↵��)⌧d⌧ t > 0



Example 2
<latexit sha1_base64="bPpa0GQ9p8krwT7nL53ghCXoCUI="></latexit>

y(t) = x(t) ⇤ h(t) = e��t

Z t

0
e(��↵)⌧d⌧ t > 0

<latexit sha1_base64="xnSeEXiskJVQPr5RQ4vSPG8u9Nw="></latexit>

= e��t


1

� � ↵
e(��↵)⌧

�t

0

t > 0

<latexit sha1_base64="pYR0Yysz371l3j6Dj3uYraMJFLw="></latexit>

= e��t


1

� � ↵
e(��↵)t � 1

� � ↵

�
t > 0

<latexit sha1_base64="Ppmht0pIJCF04S/PVOT1uxixY3E="></latexit>

=


1

� � ↵
e�↵t � 1

� � ↵
e��t

�
t > 0



Example 2
<latexit sha1_base64="MzDiEECT/qHzDMZYMsh9ozS9cc0="></latexit>

y(t) = x(t) ⇤ h(t) =


1

� � ↵
e�↵t � 1

� � ↵
e��t

�
t > 0

<latexit sha1_base64="hpDxSsQ4OO2FLj9u4ZtKJTwDkm4="></latexit>

=
e�↵t � e��t

� � ↵
t > 0

<latexit sha1_base64="p397Hg5J3XxAKxk0FMpB2tUY5R4="></latexit>

=
e�↵t � e��t

� � ↵
u(t)

<latexit sha1_base64="kluonvpIhEAvPMCSxPN+GkME47Q="></latexit>

y(t) =
e�↵t � e��t

� � ↵
u(t)

• since y(t)=0 for t<0



Example 3

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="o0C630hrtEZtkEfPQZLof1njIWg="></latexit>

x(t) = u(t),

h(t) = u(t),



Example 3

<latexit sha1_base64="A/6XyK6NMVfuThkyGPJMfEm8WoU="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)h(t� ⌧)d⌧

=

Z +1

�1
u(⌧)u(t� ⌧)d⌧



Example 3
<latexit sha1_base64="xJZ0AcMOwada/S09trBWS/j9qKI="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
u(⌧)u(t� ⌧)d⌧

<latexit sha1_base64="IFHQaHZPeLZtH6Zc2uamF30zsDA="></latexit>

y(t) =

Z t

0
1 · d⌧, t > 0

<latexit sha1_base64="7MT58+kMB7egdx33lPGKRm8iM/U="></latexit>

y(t)= 0, t < 0

• As in example 2 - see previously slides: 



Example 3
<latexit sha1_base64="IFHQaHZPeLZtH6Zc2uamF30zsDA="></latexit>

y(t) =

Z t

0
1 · d⌧, t > 0

<latexit sha1_base64="NxcDxphnjvMCogyhz3XDC1mPZXs="></latexit>

y(t) = [⌧ ]t0 , t > 0

<latexit sha1_base64="J8x2fubfQNxwafl7EcycYqK7DqY="></latexit>

y(t) = t� 0, t > 0

<latexit sha1_base64="XO2S/HCwWDQL+6j/IH5GaXl9yJg="></latexit>

y(t) = t, t > 0

• finally, since y(t)=0 for t<0:
<latexit sha1_base64="FqUvM/5nDMgdjZx/5QhLrRZ6GOA="></latexit>

y(t) = tu(t)



Example 3

• For a more graphical derivation, see:


https://www.youtube.com/watch?v=iAuVYJLjsII


 

https://www.youtube.com/watch?v=iAuVYJLjsII


Example 4

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="cEc3pO92jchzRJ/WqEP4WcD9d+A="></latexit>

x(t) = 6e�↵tu(t) � 6= 0,

h(t) = �(t)� �(t� 2) + e��tu(t), � 6= 0



Example 4

• See Example 2

<latexit sha1_base64="k0R8SZHmQRUuaL1MWvl3fRVJxo0="></latexit>

y(t) = 6e�↵tu(t)� 6e�↵(t�2)u(t� 2) + 6
e�↵t � e��t

� � ↵
u(t)

<latexit sha1_base64="2wHkgTj1DPFGwJZZxPQgyMaoTv8="></latexit>

y(t) = 6e�↵tu(t) ⇤ �(t)� 6e�↵tu(t) ⇤ �(t� 2) + 6e�↵tu(t) ⇤ e��tu(t)



Example 5

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="lGS/X9KJICLBY2iFlHP88ZVh0Ng="></latexit>

x(t) = rect(t), is 1 when t 2 [0, 1], and 0 otherwise

h(t) = sin(t)



Example 5

• We can choose one of the two equivalent possibilities: 

<latexit sha1_base64="EBKtTM6WLyXYCX/kMJ+PDabq3No="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
rect(⌧) sin(t� ⌧)d⌧

<latexit sha1_base64="zWt4XUfwdfPT6wccg/qA7TXj6pU="></latexit>

y(t) = h(t) ⇤ x(t) =
Z +1

�1
sin(⌧)rect(t� ⌧)d⌧

• this one is better in this scenario….



Example 5

• Replacing the meaning of rect(t): 

<latexit sha1_base64="LstWmYa9LCWeB1p+rNC6QSL3zgo="></latexit>

y(t) = x(t) ⇤ h(t) =
Z 1

0
1· sin(t� ⌧)d⌧

<latexit sha1_base64="lryLey1WeIM1w1sFyycplvDdjSg="></latexit>

=
⇥
�
�
� cos(t� ⌧)

�⇤1
0
= cos(t� 1)� cos(t)

<latexit sha1_base64="RrBNouCPyAYV7jYJIGuQeEwVodQ="></latexit>

y(t) = cos(t� 1)� cos(t)



Example 6

<latexit sha1_base64="Tnn+gV2vxXVGxQAZNKybDcmYcO0="></latexit>

y(t) = x(t) ⇤ h(t) =?

<latexit sha1_base64="jHqKgtKH43mgLperXjt3u/IveZo="></latexit>

x(t) = 1 if t 2 [0, 1], otherwise x(t) = 0

h(t) = 1 if t 2 [0,↵], otherwise h(t) = 0 with ↵ < 1

<latexit sha1_base64="ortdED3m9v0BaBhJU6+Ebe3+W8A="></latexit>

x(t)
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="a3O4Is9Fce4Rvs6lS2LdPFMBlYE="></latexit>

t

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="a3O4Is9Fce4Rvs6lS2LdPFMBlYE="></latexit>

t

<latexit sha1_base64="4hzQBc2IPRNzympC5//Sat8HYyw="></latexit>

h(t)

<latexit sha1_base64="jKY3WbikZjlbkes0tLr74slvKLM="></latexit>↵



Example 6
<latexit sha1_base64="ortdED3m9v0BaBhJU6+Ebe3+W8A="></latexit>

x(t)
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="a3O4Is9Fce4Rvs6lS2LdPFMBlYE="></latexit>

t

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="a3O4Is9Fce4Rvs6lS2LdPFMBlYE="></latexit>

t

<latexit sha1_base64="4hzQBc2IPRNzympC5//Sat8HYyw="></latexit>

h(t)

<latexit sha1_base64="jKY3WbikZjlbkes0tLr74slvKLM="></latexit>↵

<latexit sha1_base64="A/6XyK6NMVfuThkyGPJMfEm8WoU="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)h(t� ⌧)d⌧

=

Z +1

�1
u(⌧)u(t� ⌧)d⌧

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="wE9MiGTQu60VoPtwkuB3xLGCF14="></latexit>�↵

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧

<latexit sha1_base64="Y+tfmj6hDo5quHrGojzMtXwoNmc="></latexit>

g(⌧) = h(�⌧)



Example 6
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="wE9MiGTQu60VoPtwkuB3xLGCF14="></latexit>�↵

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧

<latexit sha1_base64="Y+tfmj6hDo5quHrGojzMtXwoNmc="></latexit>

g(⌧) = h(�⌧)

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧

<latexit sha1_base64="FNG99dEIJLcwoldjuPprYTBUtPo="></latexit>

g(⌧ + t) with t � 0

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧

<latexit sha1_base64="FPaUJd7tg7AIWZDt67j3yAgRI/A="></latexit>

g(⌧ + t) with t  0

<latexit sha1_base64="qYIOUEX7pqbcx6nGdQeHLMu3YOQ="></latexit>�↵+ t ) t� ↵
<latexit sha1_base64="qYIOUEX7pqbcx6nGdQeHLMu3YOQ="></latexit>�↵+ t ) t� ↵

<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t



Example 6

• Five - 5 - Scenarios: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y=">AAAEEXicdVNLb9NAEHYdHiU82sKRy4gkkJCmshEIDkSqxAVuBZG2UjaN1ut1vKpf7I5pI8t/gQt/hQsHEOLKjRv/hvUjKE3KSN79PPPNN7OzWicJhELL+rNhNq5cvXZ980bz5q3bd7a2d+4eqjiVjI9YHMTy2KGKByLiIxQY8ONEcho6AT9yTl8V8aOPXCoRR+9xnvBJSGeR8ASjqF3THfNRRkqVzAlSngMOCA0Sn+bNzoVA7e </latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="WuK+sIVPG99gWGH6F/5XxrZLXjE="></latexit>

x(⌧)
<latexit sha1_base64="is4RqvgoN+zKcAxQyyAdLzFuqiQ="></latexit>

g(⌧ + t)

• Completely Out - left

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  Going “inside" 

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  completely “inside”

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  Going “out” 

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

• Completely Out - right



Example 6

• Scenario 1: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

<latexit sha1_base64="WuK+sIVPG99gWGH6F/5XxrZLXjE="></latexit>

x(⌧)
<latexit sha1_base64="is4RqvgoN+zKcAxQyyAdLzFuqiQ="></latexit>

g(⌧ + t)

• Completely Out - left

<latexit sha1_base64="fqzaWvpDSyAu31AZcej5r3VbMeI="></latexit>

y(t) = 0 for t  0



Example 6

• Scenario 2: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  Going “inside" 

<latexit sha1_base64="w75ZRtZdVAKzXFJSnKtBR4JD41E="></latexit>

y(t) = t · 1 = t for 0  t  ↵



Example 6

• Scenario 3: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  completely “inside”

<latexit sha1_base64="iVsPNfG7sEAnfFMF2pRc0A8xrP8="></latexit>

y(t) = (t� t+ ↵) · 1 = ↵ for ↵  t  1



Example 6

• Scenario 4: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧
<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵
<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

•  Going “out” 

<latexit sha1_base64="aGowczt6Wj2nJx1v9z99ZUTOn+U="></latexit>

y(t) = (1� t+ ↵) · 1 = 1 + ↵� t for 1  t  1 + ↵
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• Scenario 5: 

<latexit sha1_base64="NY0KCtLjHJmLN6grsIUlhk8nWsk="></latexit>

y(t) = x(t) ⇤ h(t) =
Z +1

�1
x(⌧)g(⌧ + t)d⌧

<latexit sha1_base64="wIF6yMRT69tTE4BqDjV7VRcxEZI="></latexit>⌧<latexit sha1_base64="veDTMaDb+jp9ejB37ExQTICzB7s="></latexit>

t
<latexit sha1_base64="oajrA98G/TMkpNFP6IGIeBxz3+Y="></latexit>

t� ↵

<latexit sha1_base64="xE4fd3ShkqMppR8DslqfBIuLMmI="></latexit>

1

• Completely Out - right

<latexit sha1_base64="1LpXyO+gFVtqZ10tQ4T3wfdKGOQ="></latexit>

y(t) = 0 for t � 1 + ↵



Example 6

• Final Solution: 

<latexit sha1_base64="bOXi2CZDWpf7CvnfFXTbrGfRiUM="></latexit>

t

<latexit sha1_base64="hK2um7JU3RgvTu4kFLdpjKxn/7w="></latexit>

y(t)

<latexit sha1_base64="I8FhFvRVVhg7OHhdi8nNpbHZvTw="></latexit>↵
<latexit sha1_base64="k9+EImg2s0sSKGfuJvGG2JpS7K4="></latexit>

1 + ↵
<latexit sha1_base64="FKHm9FmR4B0P+kMcRdskBSU/Wic="></latexit>

1

<latexit sha1_base64="Sqz4wSvb3ChfSLwAmN4WaOjwkXs="></latexit>

y(t) = 1 + ↵� t

<latexit sha1_base64="0R39D9zkK6DJFv0sRFH9MZOHUz0="></latexit>

y(t) = ↵

<latexit sha1_base64="gukuBDIU+d3GvajDkOV9HPS7Suc="></latexit>

y(t) = t

<latexit sha1_base64="ydIiyjI7SpRhYqR7+fMAY27xEWo="></latexit>

y(t) = 0 <latexit sha1_base64="ydIiyjI7SpRhYqR7+fMAY27xEWo="></latexit>

y(t) = 0



Example 6
• A similar solved problem, with a nice animation can be found at:


https://www.youtube.com/watch?v=_HATc2zAhcY 


• Nice animations can be found also in wikipedia’s page:


https://en.wikipedia.org/wiki/Convolution

https://www.youtube.com/watch?v=_HATc2zAhcY
https://en.wikipedia.org/wiki/Convolution


Other examples

• https://www.youtube.com/watch?v=e0Sy_l5boh0


• https://www.youtube.com/watch?v=35gc3GE4Ddo

https://www.youtube.com/watch?v=35gc3GE4Ddo


Questions?


